
1

Mic



2



Contents

3



4 CONTENTS

1 ”strong=”1697|������ x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0” � strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”

x-cantillationLevel=”1.1.1” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4318”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”d/4183|��������������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmpc” ”strong=”3147|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”271|������ x-morph=”OSHM:HNp”
”strong=”2396|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”4428|�������� x-morph=”OSHM:HNcmpc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”834|������ a” x-
morph=”OSHM:HTr”�������|strong=”2372” x-morph=”OSHM:HVqp3ms”
strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”8111”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/3389|�������������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 2 ”strong=”8085|���������
x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”1.1.0” strong=”5971|��������
a” x-morph=”OSHM:HNcmpa” ”strong=”3605|�/������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”7181|������������ x-morph=”OSHM:HVhv2fs”
x-cantillationLevel=”1.0” ”strong=”776|������ x-morph=”OSHM:HNcbsa”
”strong=”c/4393|��/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3fs” x-
cantillationLevel=”1” ”strong=”c/1961|�����/�� x-morph=”OSHM:HC/Vqj3ms”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|�������
x-morph=”OSHM:HNp” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.1.0” ”strong=”l/5707|����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”m/1964|�������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”6944|��/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
3 strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”2009”
x-morph=”OSHM:HTm” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”3318|������ x-morph=”OSHM:HVqrmsa”
”strong=”m/4725|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3381|������/�� x-morph=”OSHM:HC/Vqp3ms”
”strong=”c/1869|�������/�� x-morph=”OSHM:HC/Vqp3ms” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”1116” x-morph=”OSHM:HNcfpc”
x-wType=”x-ketiv” 1 ”strong=”776|������ x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”0”� 4 ”strong=”c/4549|���������/�� x-morph=”OSHM:HC/VNq3cp”
”strong=”d/2022|�������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0”
”strong=”8478|�/���������� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
”strong=”c/d/6010|���������/��/�� x-morph=”OSHM:HC/Td/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”1234|�������������� x-morph=”OSHM:HVti3mp”
x-cantillationLevel=”1” ”strong=”k/1749|��������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/784|�����/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1”
”strong=”k/4325|������/��� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0.0”
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2+ ”strong=”7758|������������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
3+ ”strong=”6428|���������������������� x-morph=”OSHM:HVtv2fs” x-

cantillationLevel=”0”
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BHS in reading L. 5 6 ”strong=”935|������� x-morph=”OSHM:HVqi3ms”
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4Q
5n Marks an anomalous form.
6p We read punctuation in L differently from BHS.
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”strong=”4834|�������� x-morph=”OSHM:HVNsmsa” x-cantillationLevel=”0”�
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x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.2” ”strong=”5197|�������
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x-cantillationLevel=”1.1” ”strong=”l/3196|�������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/l/7941|��������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”5197|�������� x-morph=”OSHM:HVhrmsc” x-cantillationLevel=”0.0”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”� 12 ”strong=”622|������
x-morph=”OSHM:HVqa” ”strong=”622|�������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.1.1.0” ”strong=”3290|�������� x-morph=”OSHM:HNp”
”strong=”3605|��/������� x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1.1.1”
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cantillationLevel=”1.0” ”strong=”k/6629|�����/��� x-morph=”OSHM:HR/Ncbsa”
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x-cantillationLevel=”0.1.0” ”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3mp”
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3 strong=”c/834|�������/�� a” x-morph=”OSHM:HC/Tr” ”strong=”398|��������
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11 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0.0”
”strong=”622|���������� x-morph=”OSHM:HVNp3cp” strong=”5921|��/�������
a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.0” strong=”1471|��������
a” x-morph=”OSHM:HNcmpa” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” ”strong=”d/559|���������/�� x-morph=”OSHM:HTd/Vqrmpa”
”strong=”2610|��������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0.1”
”strong=”c/2372|������/�� x-morph=”OSHM:HC/Vqj3fs” ”strong=”b/6726|��������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0” strong=”5869|���/�������
a” x-morph=”OSHM:HNcbdc/Sp1cp” x-cantillationLevel=”0”� 12 ”strong=”c/1992|�������/��
x-morph=”OSHM:HC/Pp3mp” x-cantillationLevel=”1.1.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1.0” ”strong=”4284|������������ x-morph=”OSHM:HNcfpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”995|���������
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x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.0” ”strong=”6098|��/������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”6908|�/�������� x-morph=”OSHM:HVpp3ms/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”k/5995|�������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”1637|�/�������� x-morph=”OSHM:HNcbsa/Sd” x-cantillationLevel=”0”�
13 strong=”6965|������� b” x-morph=”OSHM:HVqv2fs” ”strong=”c/1758|��������/��
x-morph=”OSHM:HC/Vqv2fs” ”strong=”1323|��� x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2” strong=”3588|����� a”
x-morph=”OSHM:HC”��/��������|strong=”7161 a” x-morph=”OSHM:HNcbsc/Sp2fs”
x-cantillationLevel=”1.1.1.0” strong=”7760|�������� a” x-morph=”OSHM:HVqi1cs”
”strong=”1270|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.1”
”strong=”c/6541|���/�����������/�� x-morph=”OSHM:HC/Ncfpc/Sp2fs”
x-cantillationLevel=”1.1.0” strong=”7760|�������� a” x-morph=”OSHM:HVqi1cs”
”strong=”5154|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1”
”strong=”c/1854|����������/�� x-morph=”OSHM:HC/Vhq2fs” x-cantillationLevel=”1.0”
strong=”5971|�������� a” x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1” strong=”c/2763|�������������/��
a” x-morph=”OSHM:HC/Vhq1cs” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.0” ”strong=”1215|�/�������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/2428|�/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”l/113|�������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”� 14 9 KJV:Mic.5.1
”strong=”6258|������� x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0”
”strong=”1413|�������������� x-morph=”OSHM:HVri2fs” ”strong=”1323|���
x-morph=”OSHM:HNcfsc”���������|strong=”1416” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”4692|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” strong=”7760|����� a” x-morph=”OSHM:HVqp3ms”
strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1”
”strong=”b/7626|���������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”5221|������� x-morph=”OSHM:HVhi3mp” strong=”5921|����
a” x-morph=”OSHM:HR”�������/���|strong=”d/3895” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
”strong=”8199|������� x-morph=”OSHM:HVqrmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� �5 10 KJV:Mic.5.2 strong=”c/859|�������/�� a” x-morph=”OSHM:HC/Pp2ms”

x-cantillationLevel=”1.2.2.0” ”+strong=”1035|������ x-morph=”OSHM:HNp”�������|strong=”1035”
x-morph=”OSHM:HNp” ”strong=”672|���������� x-morph=”OSHM:HNp”

x-cantillationLevel=”1.2.2” ”strong=”6810|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.2.1” ”strong=”l/1961|�������/��� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2.0” ”strong=”b/505|��������/��� x-morph=”OSHM:HR/Acbpc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”4480|���/����� a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.0”
9+
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”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” ”strong=”3318|������ x-
morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1” ”strong=”l/1961|�������/���
x-morph=”OSHM:HR/Vqc” ”strong=”4910|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.0” ”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”c/4163|�/�����������/�� x-morph=”OSHM:HC/Ncfpc/Sp3ms”
strong=”m/6924|�������/�� a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”m/3117|�����/�� x-morph=”OSHM:HR/Ncmpc” ”strong=”5769|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 2 11 KJV:Mic.5.3 strong=”l/3651|����/��
c” x-morph=”OSHM:HR/D” ”strong=”5414|�/�������� x-morph=”OSHM:HVqi3ms/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”5704|��� x-morph=”OSHM:HR”�����|strong=”6256”
x-morph=”OSHM:HNcbsa” ”strong=”3205|��������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”1.0” ”strong=”3205|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1” strong=”c/3499|������/�� a” x-morph=”OSHM:HC/Ncmsc”
”strong=”251|�/������ x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”7725|�/���������� x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”1121 a”
x-morph=”OSHM:HNcmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 3 12 KJV:Mic.5.4 ”strong=”c/5975|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.2.1” strong=”c/7462|������/��
b” x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.2.0” ”strong=”b/5797|����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”b/1347|�������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.1” ”strong=”8034|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|�/�������� x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”6258”
x-morph=”OSHM:HD” ”strong=”1431|��������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”657
a” x-morph=”OSHM:HNcmpc”�������|strong=”776” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 4 13 KJV:Mic.5.5 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”2088|���� x-morph=”OSHM:HPdxms”
x-cantillationLevel=”1.0” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”804|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.1.0” � strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”935”
x-morph=”OSHM:HVqi3ms” ”strong=”b/776|���/�������/�� x-morph=”OSHM:HR/Ncbsc/Sp1cp”
x-cantillationLevel=”0.2.1” strong=”c/3588|����/�� a” x-morph=”OSHM:HC/C”
”strong=”1869|��������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.2.0”
”strong=”b/759|���/������������/��� x-morph=”OSHM:HR/Ncmpc/Sp1cp”
x-cantillationLevel=”0.2” strong=”c/6965|����������/�� b” x-morph=”OSHM:HC/Vhq1cp”
strong=”5921|��/����� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”7651|��������� x-morph=”OSHM:HAcmsa” strong=”7462|�������
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b” x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0.1” ”strong=”c/8083|���������/��
x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”0.0” strong=”5257|���������
b” x-morph=”OSHM:HNcmpc” ”strong=”120|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 5 14 KJV:Mic.5.6 strong=”c/7462|������/�� b”
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”776” x-morph=”OSHM:HNcbsc”
”strong=”804|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”b/2719|������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������|strong=”776”
x-morph=”OSHM:HNcbsc” ”strong=”5248|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/6607|��/��������/��� x-morph=”OSHM:HR/Ncmpc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/5337|��������/�� x-morph=”OSHM:HC/Vhq3ms”
x-cantillationLevel=”0.2.0” ”strong=”m/804|���������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.2” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”935”
x-morph=”OSHM:HVqi3ms” ”strong=”b/776|���/�������/�� x-morph=”OSHM:HR/Ncbsc/Sp1cp”
x-cantillationLevel=”0.1” strong=”c/3588|����/�� a” x-morph=”OSHM:HC/C”
”strong=”1869|��������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0”
”strong=”b/1366|���/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp1cp”
x-cantillationLevel=”0”� � 6 15 KJV:Mic.5.7 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.2.1.0” � ”strong=”7611|����������
x-morph=”OSHM:HNcfsc” ”strong=”3290|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”b/7130|�������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.2.0” strong=”5971|�������� a” x-morph=”OSHM:HNcmpa”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1.2”
”strong=”k/2919|����/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”m/854|����/�� x-morph=”OSHM:HR/R” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”k/7241|����������/���
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.0” strong=”5921|�����
a” x-morph=”OSHM:HR”��������|strong=”6212” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”6960
a” x-morph=”OSHM:HVpi3ms” x-cantillationLevel=”0.1.0” ”strong=”l/376|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3176|�������� x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”0.0” strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”120|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
7 16 KJV:Mic.5.8 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”7611|���������� x-morph=”OSHM:HNcfsc” ”strong=”3290|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” strong=”b/1471|��������/���
a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.2.1” ”strong=”b/7130|�������/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.2.0” strong=”5971|��������
a” x-morph=”OSHM:HNcmpa” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
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x-cantillationLevel=”1.2” strong=”k/738|��������/��� b” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”b/929|���������/��� x-morph=”OSHM:HR/Ncfpc”
strong=”3293|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
strong=”k/3715|�������/��� a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”b/5739|�������/��� x-morph=”OSHM:HR/Ncmpc” 17 18 19
”strong=”6629|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”518|��� a” x-
morph=”OSHM:HC” strong=”5674|������ a” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0.0” ”strong=”c/7429|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”c/2963|������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.0”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” ”strong=”5337|��������
x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”0”� 8 20 KJV:Mic.5.9 strong=”7311|�������
a” x-morph=”OSHM:HVqi3fs” ”strong=”3027|���/���� x-morph=”OSHM:HNcbsc/Sp2ms”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/�������|strong=”6862
c” x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”��/���������|strong=”341” x-morph=”OSHM:HVqrmpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”3772|����������� x-morph=”OSHM:HVNi3mp”
x-cantillationLevel=”0”� � 9 21 KJV:Mic.5.10 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”b/3117|�����/�� x-morph=”OSHM:HRd/Ncmsa”�����/���|strong=”d/1931”
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/3772|�����������/�� x-morph=”OSHM:HC/Vhq1cs”
strong=”5483|��/������� b” x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0”
”strong=”m/7130|��/���������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/6|�������������/�� x-morph=”OSHM:HC/Vhq1cs”
x-cantillationLevel=”0.0” ”strong=”4818|��/������������� x-morph=”OSHM:HNcfpc/Sp2ms”
x-cantillationLevel=”0”� 10 22 KJV:Mic.5.11 ”strong=”c/3772|�����������/��
x-morph=”OSHM:HC/Vhq1cs” x-cantillationLevel=”1.0” strong=”5892|������
b” x-morph=”OSHM:HNcfpc” ”strong=”776|��/������� x-morph=”OSHM:HNcbsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/2040|�����������/�� x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��/�����������|strong=”4013”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0”� 11 23 KJV:Mic.5.12
”strong=”c/3772|�����������/�� x-morph=”OSHM:HC/Vqh1cs” ”strong=”3785|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”m/3027|��/������/��
x-morph=”OSHM:HR/Ncbsc/Sp2ms” x-cantillationLevel=”1” strong=”c/6049|������������/���
b” x-morph=”OSHM:HC/Vmrmpa” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”1961|�������� x-morph=”OSHM:HVqi3mp”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� 12 24 KJV:Mic.5.13

17Q Marks a place where we agree with BHQ against BHS in reading L.
18n Marks an anomalous form.
19p We read punctuation in L differently from BHS.
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”strong=”c/3772|�����������/�� x-morph=”OSHM:HC/Vhq1cs” ”strong=”6456|��/���������
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0.0” ”strong=”c/4676|��/������������/��
x-morph=”OSHM:HC/Ncfpc/Sp2ms” x-cantillationLevel=”1.0” ”strong=”m/7130|��/���������/��
x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������������|strong=”7812” x-morph=”OSHM:HVvi2ms”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”l/4639|���������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”3027|��/������ x-morph=”OSHM:HNcbdc/Sp2ms”
x-cantillationLevel=”0”� 13 25 KJV:Mic.5.14 ”strong=”c/5428|������������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”842|��/���������� x-morph=”OSHM:HNp/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”m/7130|��/���������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/8045|��������������/�� x-morph=”OSHM:HC/Vhq1cs”
x-cantillationLevel=”0.0” strong=”5892|��/������ b” x-morph=”OSHM:HNcfpc/Sp2ms”
x-cantillationLevel=”0”� 14 26 KJV:Mic.5.15 strong=”c/6213|����������/��
a” x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”1.0.0.0” ”strong=”b/639|����/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”c/b/2534|������/��/�� x-morph=”OSHM:HC/R/Ncfsa”
x-cantillationLevel=”1.0.0” ”strong=”5359|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.0” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”8085|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0”� �6 ”strong=”8085|�������� x-morph=”OSHM:HVqv2mp”�����|strong=”4994”

x-morph=”OSHM:HTe” x-cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”3068”

x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”559|������ x-
morph=”OSHM:HVqrmsa” x-cantillationLevel=”1” strong=”6965|����� b”
x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”0.1.0” ”strong=”7378|�����
x-morph=”OSHM:HVqv2ms” ”strong=”854|��� x-morph=”OSHM:HR”�������/���|strong=”d/2022”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/8085|�������������/��
x-morph=”OSHM:HC/Vqi3fp” ”strong=”d/1389|����������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”0.0” strong=”6963|��/������ a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 2 ”strong=”8085|��������� x-morph=”OSHM:HVqv2mp”
”strong=”2022|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”7379” x-morph=”OSHM:HNcbsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/d/386|���������/��/�� x-morph=”OSHM:HC/Td/Aampa” x-
cantillationLevel=”1.0” ”strong=”4146|�������� x-morph=”OSHM:HNcbpc”
”strong=”776|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7379|����� x-
morph=”OSHM:HNcbsa” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.0” strong=”5973|��� a” x-morph=”OSHM:HR”��/������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1” strong=”c/5973|���/��
a” x-morph=”OSHM:HC/R”������������|strong=”3478” x-morph=”OSHM:HNp”
25+
26+
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x-cantillationLevel=”0.0” ”strong=”3198|����������� x-morph=”OSHM:HVti3ms”
x-cantillationLevel=”0”� 3 strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0.0” ”strong=”4100|��� x-morph=”OSHM:HTi”�����������|strong=”6213
a” x-morph=”OSHM:HVqp1cs” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”c/4100|����/�� x-morph=”OSHM:HC/Ti”
”strong=”3811|��/���������� x-morph=”OSHM:HVhp1cs/Sp2ms” x-cantillationLevel=”1”
strong=”6030|������ b” x-morph=”OSHM:HVqv2ms” ”strong=”b|�/����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 27Marks a place where
we agree with BHQ against BHS in reading L. 28 4 strong=”3588|����� a”
x-morph=”OSHM:HC” ”strong=”5927|���/���������� x-morph=”OSHM:HVhp1cs/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”m/776|������/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”4714|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/m/1004|������/��/�� b” x-morph=”OSHM:HC/R/Ncmsc” ”strong=”5650|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”6299|��/����������
x-morph=”OSHM:HVqp1cs/Sp2ms” x-cantillationLevel=”1” ”strong=”c/7971|���������/��
x-morph=”OSHM:HC/Vqw1cs” ”strong=”l/6440|��/������/�� x-morph=”OSHM:HR/Ncbpc/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”175|��������
x-morph=”OSHM:HNp” ”strong=”c/4813|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� 5 strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1.3” ”strong=”2142|����� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”1.1.2” ”strong=”4100|��� x-
morph=”OSHM:HTi”��������|strong=”3289” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.1” ”strong=”1111|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”�������|strong=”6030
b” x-morph=”OSHM:HVqp3ms” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.0” strong=”1109|��������� a” x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”1160”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/7851”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.2.0” ”strong=”5704|���
x-morph=”OSHM:HR”����������/���|strong=”d/1537” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”0.2” ”strong=”4616|�������� x-morph=”OSHM:HR”
x-cantillationLevel=”0.1” ”strong=”3045|������� x-morph=”OSHM:HVqc”
x-cantillationLevel=”0.0” ”strong=”6666|��������� x-morph=”OSHM:HNcfpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
6 ”strong=”b/4100|�����/��� x-morph=”OSHM:HR/Ti” x-cantillationLevel=”1.1.0”
”strong=”6923|��������� x-morph=”OSHM:HVpi1cs” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”3721|�������
x-morph=”OSHM:HVNi1cs” x-cantillationLevel=”1.0” ”strong=”l/430|�������/��
x-morph=”OSHM:HR/Ncmpc” ”strong=”4791|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”i/6923|����/����������/�� x-morph=”OSHM:HTi/Vpi1cs/Sp3ms”

27Q
28p We read punctuation in L differently from BHS.
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strong=”b/5930|��������/�� a” x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”0.1”
”strong=”b/5695|���������/��� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc” ”strong=”8141|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 7 ”strong=”i/7521|��������/��
x-morph=”OSHM:HTi/Vqi3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”b/505|��������/��� x-morph=”OSHM:HR/Acbpc”
strong=”352|�������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
”strong=”b/7233|����������/��� x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”1.0”
strong=”5158|�������� a” x-morph=”OSHM:HNcmpc”��������|strong=”8081”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”i/5414|�������/��
x-morph=”OSHM:HTi/Vqi1cs” ”strong=”1060|��/�������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”6588|�/��������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”6529|������� x-morph=”OSHM:HNcmsc”
”strong=”990|�/������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.0”
strong=”2403|�������� b” x-morph=”OSHM:HNcfsc” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0”� 8 ”strong=”5046|��������
x-morph=”OSHM:HVhp3ms” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.0.0” ”strong=”120|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”4100|��� x-morph=”OSHM:HTi”�������|strong=”2896
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”c/4100|����/��
x-morph=”OSHM:HC/Ti”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1.0” ”strong=”1875|��������� x-morph=”OSHM:HVqrmsa”
strong=”4480|���/����� a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1.1”
strong=”3588|����� b” x-morph=”OSHM:HC” strong=”518|��� b” x-morph=”OSHM:HC”���������|strong=”6213
a” x-morph=”OSHM:HVqc” ”strong=”4941|���������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”c/160|��������/�� x-morph=”OSHM:HC/Ncfsc”
strong=”2617|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
strong=”c/6800|���������/�� a” x-morph=”OSHM:HC/Vha” ”strong=”3212|������
x-morph=”OSHM:HVqc” x-cantillationLevel=”0.0” strong=”5973|��� a” x-
morph=”OSHM:HR”��/���������|strong=”430” x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0”� � 9 strong=”6963|����� a” x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”l/5892|�����/�� b” x-morph=”OSHM:HRd/Ncfsa” ”strong=”7121|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1” ”strong=”c/8454|�����������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.0” ”strong=”3372|��������
x-morph=”OSHM:HVqi3ms” ”strong=”8034|��/������ x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”8085|��������� x-morph=”OSHM:HVqv2mp”
”strong=”4294|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti” ”strong=”3259|��/�������
x-morph=”OSHM:HVqp3ms/Sp3fs” x-cantillationLevel=”0”� 10 ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1” ”strong=”i/786|�����/��
x-morph=”OSHM:HTi/Ta” x-cantillationLevel=”1.1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”7563|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.1” ”strong=”214|��������� x-morph=”OSHM:HNcmpc”
x-cantillationLevel=”1.0” ”strong=”7562|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/374|�������/�� x-morph=”OSHM:HC/Ncfsc”
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”strong=”7332|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”2194|��������� x-morph=”OSHM:HVqsfsa” x-cantillationLevel=”0”�
11 ”strong=”i/2135|���������/�� x-morph=”OSHM:HTi/Vqi1cs” x-cantillationLevel=”1.0”
”strong=”b/3976|���������/��� x-morph=”OSHM:HR/Ncmdc” ”strong=”7562|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/b/3599|�����/��/��
x-morph=”OSHM:HC/R/Ncmsc” x-cantillationLevel=”0.0” ”strong=”68|��������
x-morph=”OSHM:HNcfpc” ”strong=”4820|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 12 strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6223|���/���������� x-morph=”OSHM:HAampc/Sp3fs” x-cantillationLevel=”1.1.0”
”strong=”4390|�������� x-morph=”OSHM:HVqp3cp” ”strong=”2555|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/3427|��/���������/��
x-morph=”OSHM:HC/Vqrmpc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”1696|���������
x-morph=”OSHM:HVpp3cp”��������|strong=”8267” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/3956|�/���������/�� x-morph=”OSHM:HC/Ncbsc/Sp3mp”
x-cantillationLevel=”0.0” strong=”7423|��������� a” x-morph=”OSHM:HNcfsa”
”strong=”b/6310|����/���/��� x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-
cantillationLevel=”0”� 13 ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.0” strong=”2470|�����������
a” x-morph=”OSHM:HVhp1cs” ”strong=”5221|��/��������� x-morph=”OSHM:HVhc/Sp2ms”
x-cantillationLevel=”1” ”strong=”8074|��������� x-morph=”OSHM:HVha”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/����������|strong=”2403
b” x-morph=”OSHM:HNcfpc/Sp2ms” x-cantillationLevel=”0”� 14 strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”398|������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1.1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”7646|���������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.1”
”strong=”c/3445|���/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”b/7130|��/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/5253|�������/�� x-morph=”OSHM:HC/Vhi2ms”
x-cantillationLevel=”0.1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”6403|��������� x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”0.1”
strong=”c/834|�������/�� a” x-morph=”OSHM:HC/Tr” ”strong=”6403|����������
x-morph=”OSHM:HVpi2ms” x-cantillationLevel=”0.0” ”strong=”l/2719|������/��
x-morph=”OSHM:HRd/Ncfsa” ”strong=”5414|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0”� 15 strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”2232|�������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” strong=”7114|���������
b” x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”1869|��������� x-morph=”OSHM:HVqi2ms”��������|strong=”2132”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”���������|strong=”5480” x-morph=”OSHM:HVqi2ms”
”strong=”8081|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/8492|���������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”8354|���������
x-morph=”OSHM:HVqi2ms”��������|strong=”3196” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 16 ”strong=”c/8104|�������������/�� x-morph=”OSHM:HC/Vti3ms”
x-cantillationLevel=”1.1.1.0” ”strong=”2708|�������� x-morph=”OSHM:HNcbpc”
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”strong=”6018|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.1.0”
”strong=”4639|��������� x-morph=”OSHM:HNcmsc” strong=”1004|����
b” x-morph=”OSHM:HNcmsc”���������|strong=”256” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw2mp”
x-cantillationLevel=”1.0” ”strong=”b/4156|�/�����������/��� x-morph=”OSHM:HR/Ncfpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”4616|�������� x-morph=”OSHM:HR”
”strong=”5414|�/������� x-morph=”OSHM:HVqc/Sp1cs” ”strong=”853|���/����
x-morph=”OSHM:HTo/Sp2ms” x-cantillationLevel=”0.1.1.0” ”strong=”l/8047|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1.1” ”strong=”c/3427|���/���������/��
x-morph=”OSHM:HC/Vqrmpc/Sp3fs” x-cantillationLevel=”0.1.0” ”strong=”l/8322|���������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1” ”strong=”c/2781|���������/��
x-morph=”OSHM:HC/Ncfsc” strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”5375|����������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”0”� �

7 ”strong=”480|�������� x-morph=”OSHM:HTj” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1961|���������� x-morph=”OSHM:HVqp1cs”

x-cantillationLevel=”1.1.0” ”strong=”k/625|��������/��� x-morph=”OSHM:HR/Ncmpc”�������|strong=”7019”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”k/5955|��������/���
x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”1.0” ”strong=”1210|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”369|���� x-
morph=”OSHM:HTn”������������|strong=”811” x-morph=”OSHM:HNcmsa”
”strong=”l/398|�������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1”
”strong=”1063|����������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”183|��������� x-morph=”OSHM:HVpp3fs” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0”� 2 ”strong=”6|������
x-morph=”OSHM:HVqp3ms” ”strong=”2623|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.1.0” strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”c/3477|�������/��
x-morph=”OSHM:HC/Aamsa” ”strong=”b/120|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”369|������ x-morph=”OSHM:HTn” x-
cantillationLevel=”1” ”strong=”3605|��/������ x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”l/1818|�������/�� x-morph=”OSHM:HR/Ncmpa”
”strong=”693|���������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1”
”strong=”376|������ x-morph=”OSHM:HNcmsa” ”strong=”853|��� x-morph=”OSHM:HTo”���/�������|strong=”251”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0” strong=”6679|���������
a” x-morph=”OSHM:HVqi3mp” strong=”2764|������ b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 3 strong=”5921|��� a” x-morph=”OSHM:HR”����/���|strong=”d/7451
b” x-morph=”OSHM:HTd/Aamsa” ”strong=”3709|����������� x-morph=”OSHM:HNcfda”
x-cantillationLevel=”1.2.0” ”strong=”l/3190|��������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.2” ”strong=”d/8269|������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”7592|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1”
”strong=”c/d/8199|��������/��/�� x-morph=”OSHM:HC/Td/Vqrmsa”
x-cantillationLevel=”1.0” ”strong=”b/7966|���������/��� x-morph=”OSHM:HRd/Ncmsa”
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x-cantillationLevel=”1” 29 Marks a place where we agree with BHQ against
BHS in reading L. 30 31 strong=”c/d/1419|��������/��/�� a” x-
morph=”OSHM:HC/Td/Aamsa” x-cantillationLevel=”0.0.1” ”strong=”1696|�������
x-morph=”OSHM:HVqrmsa” ”strong=”1942|������� x-morph=”OSHM:HNcfsc”
”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0”
”strong=”c/5686|��/�����������/��� x-morph=”OSHM:HC/Vpw3mp/Sp3fs”
x-cantillationLevel=”0”� 4 strong=”2896|�/������ a” x-morph=”OSHM:HAamsc/Sp3mp”
”strong=”k/2312|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1”
”strong=”3477|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
”strong=”m/4534|����������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1”
”strong=”3117|����� x-morph=”OSHM:HNcmsc” ”strong=”6822|���/���������
x-morph=”OSHM:HVprmpc/Sp2ms” x-cantillationLevel=”0.1.0” ”strong=”6486|���/����������
x-morph=”OSHM:HNcfsc/Sp2ms” ”strong=”935|������ x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0.1” ”strong=”6258|������� x-morph=”OSHM:HD”
”strong=”1961|�������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0.0”
”strong=”3998|�/���������� x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0”�
5 ”strong=”408|��� x-morph=”OSHM:HTn”�������������|strong=”539”
x-morph=”OSHM:HVhj2mp” ”strong=”b/7453|�����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”408|���� x-morph=”OSHM:HTn”������������|strong=”982”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1.0” strong=”b/441|��������/���
a” x-morph=”OSHM:HR/Aamsa” x-cantillationLevel=”1” ”strong=”m/7901|����������/��
x-morph=”OSHM:HR/Vqrfsc” ”strong=”2436|��/������ x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”8104|������� x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”0.0” ”strong=”6607|�������� x-morph=”OSHM:HNcmpc”��/�����|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0”� 6 strong=”3588|�����
a” x-morph=”OSHM:HC”�����|strong=”1121 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” strong=”5034|��������� a” x-morph=”OSHM:HVprmsa”
”strong=”1|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2” ”strong=”1323|�����
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0” strong=”6965|������
b” x-morph=”OSHM:HVqrfsa” ”strong=”b/517|��/������/�� x-morph=”OSHM:HR/Ncfsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”3618|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”b/2545|��/�������/��� x-morph=”OSHM:HR/Ncfsc/Sp3fs”
x-cantillationLevel=”1” ”strong=”341|�������� x-morph=”OSHM:HVqrmpc”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”376|��������� x-morph=”OSHM:HNcmpc” strong=”1004|��/�����
b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 7 ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”1.1.0” ”strong=”b/3068|������/���
x-morph=”OSHM:HR/Np” ”strong=”6822|��������� x-morph=”OSHM:HVpi1cs”
x-cantillationLevel=”1.1” ”strong=”3176|���������� x-morph=”OSHM:HVhh1cs”
x-cantillationLevel=”1.0” ”strong=”l/430|�������/�� x-morph=”OSHM:HR/Ncmpc”
”strong=”3468|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”

29Q
30n Marks an anomalous form.
31p We read punctuation in L differently from BHS.
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”strong=”8085|���/���������� x-morph=”OSHM:HVqi3ms/Sp1cs” x-cantillationLevel=”0.0”
”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0”�
8 ”strong=”408|���� x-morph=”OSHM:HTn”�������������|strong=”8055”
x-morph=”OSHM:HVqj2fs” ”strong=”341|��/���������� x-morph=”OSHM:HVqrfsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”5307|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” strong=”6965|���������
b” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”3427” x-morph=”OSHM:HVqi1cs”
”strong=”b/2822|��������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”216|����� x-morph=”OSHM:HNcbsa” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� � 9 ”strong=”2197|������ x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”5375|�������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”2398|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”l|��/�� x-
morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” ”strong=”5704|���� x-
morph=”OSHM:HR” strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”7378|�������
x-morph=”OSHM:HVqi3ms” ”strong=”7379|��/����� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.2.0” strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/Vqp3ms”
”strong=”4941|�/����������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.2”
”strong=”3318|���/��������� x-morph=”OSHM:HVhi3ms/Sp1cs” ”strong=”l/216|�����/��
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1” ”strong=”7200|��������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0” ”strong=”b/6666|��/��������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”0”� 10 ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqi3fs” ”strong=”341|��/���������� x-morph=”OSHM:HVqrfsc/Sp1cs”
x-cantillationLevel=”1.2.0” ”strong=”c/3680|��/��������/�� x-morph=”OSHM:HC/Vpi3fs/Sp3fs”
”strong=”955|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2”
”strong=”d/559|��������/�� x-morph=”OSHM:HTd/Vqrfsa” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1” ”strong=”346|��/�����
x-morph=”OSHM:HTi/Sp3ms” x-cantillationLevel=”1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|��/��������� x-morph=”OSHM:HNcmpc/Sp2fs”
x-cantillationLevel=”1” strong=”5869|��/����� a” x-morph=”OSHM:HNcbdc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”7200|������������� x-morph=”OSHM:HVqi3fp”
”strong=”b|��/���� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1”
”strong=”6258|������� x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0”
”strong=”1961|���������� x-morph=”OSHM:HVqi3fs” ”strong=”l/4823|��������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”k/2916|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”2351|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 11 ”strong=”3117|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”1447|��/���������� x-morph=”OSHM:HNcmpc/Sp2fs” x-cantillationLevel=”1”
”strong=”3117|����� x-morph=”OSHM:HNcmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.0” ”strong=”7368|�������
x-morph=”OSHM:HVqi3ms”�����|strong=”2706” x-morph=”OSHM:HNcmsa”
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x-cantillationLevel=”0”� 12 ”strong=”3117|����� x-morph=”OSHM:HNcmsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.1.0”
”strong=”c/5704|��/������/�� x-morph=”OSHM:HC/R/Sp2ms” ”strong=”935|�������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1” strong=”l/4480|�������/��
a” x-morph=”OSHM:HR/R” ”strong=”804|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”c/5892|������/�� b” x-morph=”OSHM:HC/Ncfpc”
”strong=”4692|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”c/l/4480|�������/��/�� a” x-morph=”OSHM:HC/R/R” ”strong=”4693|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”c/5704|���/��
x-morph=”OSHM:HC/R”�������|strong=”5104” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/3220|����/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”m/3220|�����/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”c/2022|����/�� x-morph=”OSHM:HC/Ncmsa” ”strong=”d/2022|����/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 13 ”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqq3fs” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.0.0” strong=”l/8077|���������/�� a” x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/�����������|strong=”3427”
x-morph=”OSHM:HVqrmpc/Sp3fs” x-cantillationLevel=”1” ”strong=”m/6529|�������/��
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0” ”strong=”4611|����/����������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”� � 14 strong=”7462|������
b” x-morph=”OSHM:HVqv2ms” strong=”5971|���/����� a” x-morph=”OSHM:HNcmsc/Sp2ms”
”strong=”b/7626|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.2.1” ”strong=”6629|����� x-morph=”OSHM:HNcbsc”
x-cantillationLevel=”1.2.0” ”strong=”5159|��/���������� x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”1.2” ”strong=”7931|��������� x-morph=”OSHM:HVqrmsc”
”strong=”l/910|������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1”
strong=”3293|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”3760|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”7462|��������
b” x-morph=”OSHM:HVqi3mp” ”strong=”1316|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”c/1568|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”k/3117|�����/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”5769|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
15 ”strong=”k/3117|�����/��� x-morph=”OSHM:HR/Ncmpc” ”strong=”3318|���/�����
x-morph=”OSHM:HVqc/Sp2ms” x-cantillationLevel=”1.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”4714|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”7200|����/������� x-morph=”OSHM:HVhi1cs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”6381|����������� x-morph=”OSHM:HVNrfpa”
x-cantillationLevel=”0”� 16 ”strong=”7200|�������� x-morph=”OSHM:HVqi3mp”
strong=”1471|������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0”
”strong=”c/954|���������/�� x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”1.1”
”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0”
”strong=”1369|�/������������ x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”1”
strong=”7760|���������� a” x-morph=”OSHM:HVqi3mp” ”strong=”3027|����
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”������|strong=”6310” x-morph=”OSHM:HNcmsa”
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x-cantillationLevel=”0.1” ”strong=”241|����/������� x-morph=”OSHM:HNcfdc/Sp3mp”
x-cantillationLevel=”0.0” strong=”2790|�������������� b” x-morph=”OSHM:HVqi3fp”
x-cantillationLevel=”0”� 17 ”strong=”3897|���������� x-morph=”OSHM:HVpi3mp”
”strong=”6083|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0”
”strong=”k/5175|��������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2”
strong=”k/2119|��������/��� a” x-morph=”OSHM:HR/Vqrmpc” ”strong=”776|������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1” ”strong=”7264|�����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.0” ”strong=”m/4526|����/��������������/��
x-morph=”OSHM:HR/Ncfpc/Sp3mp” x-cantillationLevel=”1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp” ”strong=”430|����/��������
x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”6342|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1” ”strong=”c/3372|���������/��
x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”0.0” strong=”4480|���/������
a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0”� 18 ”strong=”4310|���
x-morph=”OSHM:HTi”�����|strong=”410” x-morph=”OSHM:HNcmsa” ”strong=”3644|��/�������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.1” ”strong=”5375|�������
x-morph=”OSHM:HVqrmsa” ”strong=”5771|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1.0” strong=”c/5674|������/�� a” x-morph=”OSHM:HC/Vqrmsa”
strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”6588” x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”l/7611|����������/��
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0” ”strong=”5159|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1” ”strong=”3808|���
x-morph=”OSHM:HTn”����������|strong=”2388” x-morph=”OSHM:HVhp3ms”
”strong=”l/5703|����/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”2654 a”
x-morph=”OSHM:HVqp3ms” strong=”2617|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 19 ”strong=”7725|�������� x-morph=”OSHM:HVqi3ms”
”strong=”7355|���/���������� x-morph=”OSHM:HVpi3ms/Sp1cp” x-cantillationLevel=”1.1”
”strong=”3533|���������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0”
”strong=”5771|���/����������� x-morph=”OSHM:HNcbpc/Sp1cp” x-
cantillationLevel=”1” ”strong=”c/7993|�����������/�� x-morph=”OSHM:HC/Vhi2ms”
x-cantillationLevel=”0.0.0” ”strong=”b/4688|���������/��� x-morph=”OSHM:HR/Ncfpc”
”strong=”3220|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/�����������|strong=”2403
b” x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”0”� 20 ”strong=”5414|��������
x-morph=”OSHM:HVqi2ms” ”strong=”571|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1.0” ”strong=”l/3290|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” strong=”2617|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”l/85|����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” strong=”834|������ a” x-morph=”OSHM:HTr”���������������|strong=”7650”
x-morph=”OSHM:HVNp2ms” ”strong=”l/1|���/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”m/3117|����/��� x-morph=”OSHM:HR/Ncmpc”
strong=”6924|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�


